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Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622861
Question Shuffling Allowed : Yes

Question Id : 5362281541 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table embodies the details about the enrollment of students 1n five different

streams namely IT, Management. Commerce. Science and Arts in a college during the
session 2019-20. A total number of 3500 students including 1500 girls have been enrolled in
the college. Based on the data in the table, answer the questions 1-5

Stream-wise enrollment of students

Stream Percentage (%) of students | Percentage (%) of Girls
enrolled (out of 3500) enrolled (out of 1500)
IT 20% 18%
Management 16% 12%
Commerce 12% 21%
Science 22% 11%
Arts 30% 38%

Sub questions

Question Number : 1 Question Id : 5362281542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of boys enrolled in Management stream and IT stream together?

(1) 1050 (2) 810
(3) 1120 (4) 980
Options :

5362286001. 1
5362286002. 2



5362286003. 3
5362286004. 4

Question Number : 2 Question Id : 5362281543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of girls enrolled in Arts to the number of boys enrolled in
science?

(1) 14: 23 2y 233
(3) 114 :121 (4)y 53:65
Options :

5362286005. 1
5362286006. 2
5362286007. 3
5362286008. 4

Question Number : 3 Question Id : 5362281544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of girls enrolled in Science and Commerce streams together?

(1) 450 (2) 495
(3) 345 (4) 480
Options :

5362286009. 1
5362286010. 2
5362286011. 3
5362286012. 4

Question Number : 4 Question Id : 5362281545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



If 20% of the girls enrolled 1n Science change their stream to management. then what will be
the new number of students belonging to management stream altogether?

(1) 593 (2) 733
(3) 453 (4) 1003
Options :

5362286013. 1
5362286014. 2
5362286015. 3
5362286016. 4

Question Number : 5 Question Id : 5362281546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The number of girls enrolled in Arts, Science and Commerce streams together forms what
percent (%) of total number of students in the college?

(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362286017. 1
5362286018. 2
5362286019. 3
5362286020. 4

Question Id : 5362281541 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 5362281542 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 1050 (2) 810
(3) 1120 (4) 980

Options :

5362286001. 1
5362286002. 2
5362286003. 3
5362286004. 4

Question Number : 2 Question Id : 5362281543 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 14:23 2 2:3
(3) 114:121 (4) 53:65

Options :

5362286005. 1
5362286006. 2
5362286007. 3
5362286008. 4

Question Number : 3 Question Id : 5362281544 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 450 (2) 495
(3) 245 (4) 480

Options :

5362286009. 1
5362286010. 2
5362286011. 3
5362286012. 4

Question Number : 4 Question Id : 5362281545 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 593 (2) 733
(3) 453 (4) 1003
Options :



5362286013. 1
5362286014. 2
5362286015. 3
5362286016. 4

Question Number : 5 Question Id : 5362281546 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(1) 25% (2) 30%
(3) 40% (4) 60%
Options :

5362286017. 1
5362286018. 2
5362286019. 3
5362286020. 4

Sub-Section Number : 2
Sub-Section Id : 53622862
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 5362281547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which level of teaching uses higher level of cognitive abilities as specified 1n Bloom's
taxonomy?

(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level
Options :

5362286021. 1
5362286022. 2
5362286023. 3



5362286024. 4

Question Number : 6 Question Id : 5362281547 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286021. 1
5362286022. 2
5362286023. 3
5362286024. 4

Question Number : 7 Question Id : 5362281548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The teaching strategy best suited to deal with students who 1n terms of performance
readiness level are in the category of ‘able but unwilling’, will be,

(1) Assigning challenging tasks and delegation of roles
(2) Involving in tasks and providing soclo-emotional support with scope for recognition
(3) Mentoring and guiding with close supervision
(4) Keeping the tasks specific and soft
Options :
5362286025. 1
5362286026. 2

5362286027. 3
5362286028. 4

Question Number : 7 Question Id : 5362281548 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362286025. 1
5362286026. 2
5362286027. 3
5362286028. 4

Question Number : 8 Question Id : 5362281549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be the behavioural competencies 1n an effective teaching-
behawviour repertoire?

(A) Self efficacy and locus of control
(B) Planming and teaching

(C) Managing and monitoring

(D)  Evaluating and providing feedback
(E) Logical. clear and confident

Choose the correct answer from the options given below :

(1) (B). (C) and (D) only (2) (A). (B) and (C) only
(3) (A), (D) and (E) only (4) (0C), (D)and (E) only
Options :

5362286029. 1



5362286030. 2
5362286031. 3
5362286032. 4

Question Number : 8 Question Id : 5362281549 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286029. 1
5362286030. 2
5362286031. 3
5362286032. 4

Question Number : 9 Question Id : 5362281550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: In a classroom assessment, a teacher finds that the distribution of students’
score 1s positively skewed. Hence, the mean of scores will be greater than

median and median will be greater than mode.

Statement II : When the distribution of students’ score 1= found to be normal. all the three

measures of central tendency colncide.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I 1s correct but Statement II is incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
Options :

5362286033. 1
5362286034. 2
5362286035. 3
5362286036. 4

Question Number : 9 Question Id : 5362281550 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286033. 1
5362286034. 2

5362286035. 3
5362286036. 4

Question Number : 10 Question Id : 5362281551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Teaching-learning systems to be effective must be carefully planned.
adequately implemented and appropriately evaluated.

Reasons (R) : Effectiveness of teaching-learning systems 1s a pre-requisite for all levels
of education.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1s false but (R) 1s true
Options :
5362286037. 1
5362286038. 2

5362286039. 3
5362286040. 4

Question Number : 10 Question Id : 5362281551 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286037. 1
5362286038. 2
5362286039. 3
5362286040. 4

Question Number : 11 Question Id : 5362281552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research focuses on enhancing the corpus of knowledge 1n a given
field?

(1) Action Research (2) Applied Research
(3) Evaluative Research (4) Fundamental Research
Options :

5362286041. 1
5362286042. 2



5362286043. 3
5362286044. 4

Question Number : 11 Question Id : 5362281552 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286041. 1
5362286042. 2
5362286043. 3
5362286044. 4

Question Number : 12 Question Id : 5362281553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following research method emplovs internal and external criticism for sifting as
evidences and data?

(1) Ex post facto method (2) Experimental method
(3) Historical method (4) Descriptive survey method
Options :

5362286045. 1
5362286046. 2
5362286047. 3
5362286048. 4

Question Number : 12 Question Id : 5362281553 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286045. 1
5362286046. 2
5362286047. 3
5362286048. 4

Question Number : 13 Question Id : 5362281554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Identify the key features of qualitative research :

(A) Actual settings as the source of data

(B) Control. observe and measure as main operations
(C) Data take the forms of words or pictures

(D)  Concerned with participant perspective

(E) Hypothesis making and hypothesis testing

Choose the most appropriate answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B) and (C) only
(3) (B). (C) and (D) only (4) (C). (D) and (E) only
Options :

5362286049. 1
5362286050. 2
5362286051. 3



5362286052. 4

Question Number : 13 Question Id : 5362281554 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A)  FATHSI % @F & =9 ° Feaas ey
(B) WA HEm F =9 H A, sEEd a3
(C)  wir®z, weal ug foat =1 =9 =i 3 |

(D) FFari THuE § WY gEied

(E)  OR#Fa1 a1 997 SaFeGAT T W FA

Jr=r 22 ™ Ao § ¥ TE I g

(1) == (A). (C) 5F (D) 2) FaE (A). (B) =R ()

(3) %= (B). (C) 31 (D) (4) F== (C). (D) 31 (E)
Options :

5362286049. 1
5362286050. 2
5362286051. 3
5362286052. 4

Question Number : 14 Question Id : 5362281555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: The population in research means a defined aggregate of something which 1=

the focus of study.

Statement II: A sample 1s a sub-aggregate drawn from a defined aggregate to represent it.

In the hght of the above statements, choose the most appropriate answer from the options

o1ven below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement I 1s correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement I 1s correct
Options :

5362286053. 1
5362286054. 2
5362286055. 3
5362286056. 4

Question Number : 14 Question Id : 5362281555 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286053. 1
5362286054. 2
5362286055. 3
5362286056. 4

Question Number : 15 Question Id : 5362281556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as
Reason (R) :

Assertion (A):  Research ethics 1s a must in order to lend credibility to the research
findings and thelr use 1n authentic situations.

Reasons (R) : Application of ICT in research vouches for credibility of research results.
In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false
(4) (A) 1= false but (R) 1s true
Options :
5362286057. 1
5362286058. 2

5362286059. 3
5362286060. 4

Question Number : 15 Question Id : 5362281556 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



. -

Hr 71 e fou o 2 TEd O v o sl (A) #E gE o a (R) TR

sAfTF (A) AIHAG TR UF AAtas gifEafdm § 3 9= EvaadEa wE # F o
HTATH H HATER GiEdT AGYTE 7 |

T (R): AT | AE = A 1 FATTEM ATEAE e F e w5 geey # g |
IUAFT FUAT T AT § R faeT 8 | Haiias 3999 3 91

() (&) # ®) I = F 57 R). (A) F 7 = 2
@ (&) @I T E TG R). Q) F =
(3) (AT 2 w=g (R) WAl 7 2 |
@ (AT T 2 g (R) T R

Options :

5362286057. 1

5362286058. 2

5362286059. 3
5362286060. 4

Question Number : 16 Question Id : 5362281557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Immediacy of cues In communication 1s dependent upon one’s own

(1) Economic preferences (2) Cultural background
(3) Physzical fitness (4) Social expectations
Options :

5362286061. 1
5362286062. 2



5362286063. 3
5362286064. 4

Question Number : 16 Question Id : 5362281557 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286061. 1
5362286062. 2
5362286063. 3
5362286064. 4

Question Number : 17 Question Id : 5362281558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following methods help improve academic communication?

(A) Preference to vertical communication

(B) Training individual students in commumecation skills

(C) Restricting too much generation of information

(D)  Recognising cultural and hinguistic differences among students

(E) Opting for uniformity in using cultural symbols

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only 2  (C). (D). (E) only
(3)  (B).(C). (D) only (4) (B). (D). (E) only
Options :

5362286065. 1
5362286066. 2
5362286067. 3
5362286068. 4

Question Number : 17 Question Id : 5362281558 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286065. 1
5362286066. 2
5362286067. 3
5362286068. 4

Question Number : 18 Question Id : 5362281559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A) : Verbal Commumnication takes place 1n real time.

Reason (R) : Written communication 1s synchronous in character as it appears at

different intervals.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1= false but (R) 1s true

Options :

5362286069. 1
5362286070. 2
5362286071. 3
5362286072. 4

Question Number : 18 Question Id : 5362281559 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286069. 1
5362286070. 2
5362286071. 3
5362286072. 4

Question Number : 19 Question Id : 5362281560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of the emergence of the following publications :

(A) Standard newspapers
(B) MNews book

(C) News sheets

(D) Tabloids

(E) Broad sheets

Choose the correct answer from the options given below :

(1) (O (B). (A). (D). (E) (2) (D), (E). (C), (B), (A)
(3) (A). (B). (C), (E). (D) (4) (B). (C), (D). (E). (A)
Options :

5362286073. 1
5362286074. 2
5362286075. 3
5362286076. 4

Question Number : 19 Question Id : 5362281560 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286073. 1
5362286074. 2
5362286075. 3
5362286076. 4

Question Number : 20 Question Id : 5362281561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I List IT
(Systems of communication) {(Focussed elements)
(A) Western (I)  Non-competitive and co-operative
(B) Indian (II) Co-existence of binary oppositions
(C) Buddhist (ITITI) Emotional variants
(D) Chinese (IV) Rhetorical devices

Choose the correct answer from the options given below :

1 (A-D. (B)-ID), (C)-(IV), (D)-(II)
(2)  (A)-@V), (B)-III). (C)-(D), (D)-(IL)
(3)  (A-ID. (B)-(IV). (O)-ID). (D)-(I)

4  (A)-OV). (B)-(I). (C)-(I1II), (D)-(II)
Options :
5362286077. 1
5362286078. 2
5362286079. 3
5362286080. 4

Question Number : 20 Question Id : 5362281561 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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(B) wwdE (D) T3 smar gfdFear 1 Fraaftae
(C) g (II) T =992
D) = AV) eI oA

1  @-D. (B)-II). (C)-(IV), (D)-(II)
(2)  (A)-IV). (B)-(II). (C)-(I), (D)-(II)
(3)  (A-ID. (B)-(IV). (C)-(ID), (D)-(I)

4)  (A)-IV). (B)-), (C)-(IIT), (D)-(II)
Options :
5362286077. 1
5362286078. 2
5362286079. 3
5362286080. 4

Question Number : 21 Question Id : 5362281562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Three persons are walking around a ground. They take 20. 30 and 40 minutes to complete
one round. If they start from a single point together, they will meet again at that point after.

(1) 1 hour (2) I%hour
1
(3) 2 hour (4) 2§ hour
Options :

5362286081. 1
5362286082. 2
5362286083. 3
5362286084. 4

Question Number : 21 Question Id : 5362281562 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A =afed U U = FEC S R B | 36 HEM R U S99 T H HE9: 20, 30 # 40 i o an
= B | Te A Bl FREl T B T W ZEe TNY WA B A1 Thad TET % §1E 39 T WO 5o

1

(1) 192-31 (2) 15 e I
3 2H@-wm @ 2% SeaS

Options :

5362286081. 1
5362286082. 2
5362286083. 3
5362286084. 4

Question Number : 22 Question Id : 5362281563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



In a class of 65 students. 27 speak Hindi, 21 speak English and 17 speak Bangla. 7 speak
only English and Hindi. 6 speak only Hindi and Bangla and 5 speak only English and

Bangla. If 12 speak only Hindi then how many speak all the three languages.

(1) 3] (2) 4
3 3 4 2
Options :

5362286085. 1
5362286086. 2
5362286087. 3
5362286088. 4

Question Number : 22 Question Id : 5362281563 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

65 Terntet anel v wen | 27 Fendl B @ied 2, 21 Bl oush aew # e 17 fHendt aven sed

21 7 Tl === U 310 a1 9ed 7, 6 Tl #am 5= A =men 9red 7 oawn 5 faEmefl wee

AU AT "0 Ao 2 | T2 12 Tl Fae =2 "o 7 91 ead el o i1 9 s #

(1) 5 (2) 4
3 3 4 2
Options :

5362286085. 1
5362286086. 2
5362286087. 3
5362286088. 4

Question Number : 23 Question Id : 5362281564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of four consecutive odd integers 1s 2160. The greatest of them 1s

(1) 327 (2) 429

(3) o037 (4) 641



Options :

5362286089. 1
5362286090. 2
5362286091. 3
5362286092. 4

Question Number : 23 Question Id : 5362281564 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

IW FiHF gur foram Freett w0 3 2160 7 | 39H & T 91 JEr B -Hf 26t

(1) 327 (2) 429
(3) 237 (4) 641
Options :

5362286089. 1
5362286090. 2
5362286091. 3
5362286092. 4

Question Number : 24 Question Id : 5362281565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A two digit number 1s 4 times the sum of its two digits. The number that i1s formed by
reversing its digits 15 27 more than the original number. What 1s the number?

(n 27 (2) 36
(3) 42 (4) b4
Options :

5362286093. 1
5362286094. 2
5362286095. 3
5362286096. 4

Question Number : 24 Question Id : 5362281565 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

UF I FAFETAT TEAT A AT STH T AT H 470 2 | THE AHN 1 FH seed I 591 T g T °
27 AT9= & | §o1 HEA =4 |

(1) A (2) 36
(3) 42 (4) 54
Options :

5362286093. 1
5362286094. 2
5362286095. 3
5362286096. 4

Question Number : 25 Question Id : 5362281566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The sum of the squares of three numbers 1s 83, while sum of their products taken two at a
time 1s 71. Their sum will be

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362286097. 1
5362286098. 2
5362286099. 3
5362286100. 4

Question Number : 25 Question Id : 5362281566 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A\ HEEA % 9 A 83 2 | T W ToA® Bl HEAE R A A0 717 | 39 e w6

(1) 15 (2) 49
(3) 142 (4) 225
Options :

5362286097. 1
5362286098. 2
5362286099. 3
5362286100. 4

Question Number : 26 Question Id : 5362281567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following Pramanas 1s accepted 1n Vaisheshika philosophy?

(A) Pratvaksha
(B) Anuméan

(C) Upaméana
(D) S'abda

(E)  Arthapatti

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (C) and (D) only (4) (A)and (D) only
Options :

5362286101. 1
5362286102. 2
5362286103. 3



5362286104. 4

Question Number : 26 Question Id : 5362281567 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[ [l - 2 . R r - .-u . % -
Mg 9 o hiA—H THIY S99 299 | S=iH 150 IS a7

(A) Izt

(B) =AA

(C) 3THH

D) 5

(E) w39t

Fr= f22 = fameat 0 1w I =g

(1) === (A) 317 (B) (2) =Fa= (B) 311 (C)

(3) === (C) # (D) (4) == (A) F (D)
Options :

5362286101. 1
5362286102. 2
5362286103. 3
5362286104. 4

Question Number : 27 Question Id : 5362281568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

Last I Last IT
(Concept/Doctrine) (School)
(A) Pratityasamudpada (I} Vedant
(B) Abha&ava (IT) Sankhya
(C) Samyavastha (III) Nyayva
(D) Adhyasa (IV) Buddhism

Choose the correct answer from the options given below :

(1 A-D. (B)-ID. (O)-(IV). (D)-(ID)
@  (A-ah. B)-av). (O)-aI). (D)-D
(3 (A)-0V), (B)-IID), (C)-1D). (D)-(D)
@ (A)-AV), B)-1). (C)-11). (D)-(I1D)

Options :

5362286105. 1

5362286106. 2

5362286107. 3
5362286108. 4

Question Number : 27 Question Id : 5362281568 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T=i-1 =1 g=i-11 5 gEfem it

-1 11

(e /fagr) (Trer=r )
(A) IR @ =
B) A (ID) ==
(C) === (I1I) =
(D) =T av) =g

(1) (A)-(D). (B)-(III). (C)-(IV), (D)-(II)
(2) (A)-(IL). (B)-(IV). (C)-(III). (D)-(I)
(3) (A)-(IV), (B)-(ITI), (C)-(II), (D)-(I)
(4) (A)-(IV), (B)-(I). (C)~(II), (D)-(I1I)

Options :

5362286105. 1

5362286106. 2

5362286107. 3
5362286108. 4

Question Number : 28 Question Id : 5362281569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the figure of categorical syllogism. Quantity and Quality of a proposition determine :

(1) Vahidity of Syllogism (2) Mood of the Syllogism
(3) Figure of the Syllogism (4) Fallacy of the Syllogism
Options :

5362286109. 1
5362286110. 2



5362286111.3
5362286112. 4

Question Number : 28 Question Id : 5362281569 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

RESEl CE A I e e Tl 1 e e B R e e e s e 2 e L e | e eI e e G e B M e e Al e ol
E 'xEﬁl ?'l-?

(1) T =i (2) =TI A
(3) —=EEE * U (4) =IEETEE H AT
Options :

5362286109. 1
5362286110. 2
5362286111.3
5362286112. 4

Question Number : 29 Question Id : 5362281570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match List I with Last IT :

List I List IT
(Concept) (Philosopher)
(A) Phenomenon and Noumenon (I) Amstotle
(B) Potential and actual being (I) Descartes
(C) Mind and Body Dualism (III) Locke
(D) Primary and Secondary qualities (IV) Kant

Choose the correct answer from the options given below :

(1) (A)-D. (B)-(III). (C)-(IV), (D)-IT)
) (A)-IID. (B)-ID). (C)-(D). (D)-(IV)
(3)  (A-IV). B)-(D). (C)-(1D). (D)-(11I)
4 (A)-dD. (B)-IV), (C)-IIL), (D)-(I)

Options :

5362286113. 1
5362286114.2
5362286115.3
5362286116. 4

Question Number : 29 Question Id : 5362281570 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T i F=-I1 & goferd il

-1 THl-11
(T (i)
(A) =2 UF TEA I =g
(B) THIEAI UF ATE{Ea® BT (D s
(C) T4 T3 TR gaag AID) =i+
(D) T T T AV) A
e fau T faet § ® @A ST g

(1)  (A)-D. (B)-(IIL). (C)-(IV). (D)-(IL)
(2)  (A)-IID), (B)-IIL). (C)-(I), (D)-(IV)
(3)  (A)-IV), (B)-T). (C)-(II). (D)-(III)
(4) (A)-(ID)., (B)-(IV). (C)-(IID), (D)-(@)

Options :

5362286113. 1
5362286114.2
5362286115.3
5362286116. 4

Question Number : 30 Question Id : 5362281571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

According to the law of excluded middle :

(1) A proposition could be true and false simultaneously
(2) A proposition is either true or false

(3) A proposition 1s true if it 1s true

(4) A proposition 1s neither true nor false

Options :
5362286117. 1



5362286118. 2
5362286119. 3
5362286120. 4

Question Number : 30 Question Id : 5362281571 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

afsid 757 =+ 7w =+ e

(1)  wiosiie U =19 A SN T w7 0l
(2) TGSt =7 91 HE E AYE T 7

(3)  wiasl ®al 7 92 7% ®&l 2 |

(4)  wiamfa 9 a1 92 2 3 F Ted |
Options :

5362286117. 1

5362286118. 2

5362286119. 3
5362286120. 4

Question Number : 31 Question Id : 5362281572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An unsolicited e-mail message sent to many reciplients at once 1s a

(1) Inbox (2) Spam
(3) Virus (4) Attack
Options :

5362286121. 1
5362286122.2
5362286123. 3
5362286124. 4



Question Number : 31 Question Id : 5362281572 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HF ACAFATAT T TH WY CHH T HIE FESG S-He 9H0F B A

(1)  ==iFH (2) |
(3) == (4) =%
Options :

5362286121. 1
5362286122.2
5362286123. 3
5362286124. 4

Question Number : 32 Question Id : 5362281573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I: Operators are special symbols that are used to perform calculations, make
comparisons and check logical condition.

Statement II : Relational operators are used for arithmetic operations.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1= correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286125. 1



5362286126. 2
5362286127. 3
5362286128. 4

Question Number : 32 Question Id : 5362281573 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Fo (I):  SATwer e s w2d 2 T ugi afeeed #, e S SR i feafeat i S e

= fore fofan 5man 2

STIF U F AT § ARG e 3 F w3 A
(1) o I3 I3A =8 # |

(2 w13 I =A o 2 |

(3) w1 2 g %99 [I7ed 2 |

@) w1 3EE s g F99 a8 2

Options :

5362286125. 1
5362286126. 2
5362286127.3
5362286128. 4

Question Number : 33 Question Id : 5362281574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I : In peer-to-peer network., there 1s no central server instead each computer can
act as a server as well as a chient.

Statement IT: LAN 1s a computer network created for individual person.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement II is false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286129. 1
5362286130. 2
5362286131.3
5362286132. 4

Question Number : 33 Question Id : 5362281574 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



(nH i i~ = r - R ~ r P s i 5
B (I}: HHATE l[l:rr':H A I:EH} JZd9 A Tl g™ TJd1 T80 2141 e ai:,.,h SH T T FOA e
- = Ry r B
Hal 3N U FoEE & E0 H 0 L Hhal |

FoA (ID) :  LAN =afd 5909 #q S0 =1 02t 42a 2l 7 |
IUF FYAT F AT ° ARG faEed § F 5E I =4

(1) = I3 I EH 581 7 |

(2 w1 #R I 2E 7o 2 |

3) =wEITFzFgFEIITE 2|

@ w13 2 g o 1L TF 2 |

Options :

5362286129. 1
5362286130. 2
5362286131. 3
5362286132. 4

Question Number : 34 Question Id : 5362281575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A computer network enables two or more computers to
(1) Increase the speed (2) Share data and hardware resources
(3) Increase the work (4) Monitor the software

Options :

5362286133. 1

5362286134.2

5362286135.3
5362286136. 4

Question Number : 34 Question Id : 5362281575 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

2 FOAL T2 3 A1 3 F AT Fgd 1 FAfatad 3 @ 73 i § g9 a9 2

(1) wEaEHd (2) TTET IR ETSAAE TETGAT & HE0 A o
(3 wFE gAY (4) wiFzaE i e

Options :

5362286133. 1
5362286134.2
5362286135. 3
5362286136. 4

Question Number : 35 Question Id : 5362281576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Full form of the abbreviation OCR 1s :

(1) Optical Character Recognition (2) Online Computer Reader
(3) Optical Computer Recognition (4) Optical Control Reader
Options :

5362286137. 1
5362286138. 2
5362286139. 3
5362286140. 4

Question Number : 35 Question Id : 5362281576 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FEeR OCR =1 71 91 2

(1)  *ATehel et R @) AT T
(3)  omfewa wogz fwrtee @) onfesa F2ie st

Options :



5362286137. 1
5362286138. 2
5362286139. 3
5362286140. 4

Question Number : 36 Question Id : 5362281577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following countries has not signed/ratified the International Solar Alliance
Framework Agreement?

(1) Australia (2) United Kingdom
(3) Japan (4) China
Options :

5362286141. 1
5362286142.2
5362286143. 3
5362286144. 4

Question Number : 36 Question Id : 5362281577 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i~

MefeTREd § | 0 391 3 3o Ao S FAaE Ui TR /A AR T6 e 2

(1) seefemn (2) T3S A
(3 S (4) A
Options :

5362286141. 1
5362286142.2
5362286143. 3
5362286144. 4



Question Number : 37 Question Id : 5362281578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1s labelled as Assertion (A) and the other 12 labelled as
Reason (R) :

Assertion (A):  Energy production from blomass has traditionally been considered
carbon neutral.

Reason (R) : Carbon dioxide emissions from combustion of biomass are sequestered by
growing blomass

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

5362286145. 1
5362286146. 2
5362286147.3
5362286148. 4

Question Number : 37 Question Id : 5362281578 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= 31 A R e | uw w0 ATeEwEA (A) R gE 0 as (R) FE TR |

AMTFHE (A) ATEAEE ° FoA1 Ie912A T TR £ H FIeA gZed 5T A |
r : Pty ¢ r . r x ~ P
ab (R) : HAEMEE & ged ° 3c9i=d FEA SEATFEES A EEAC eI e il S9YHET = TeTd
T Z |

I9GFA FUET o ATATR § FiEd e O ° wE I g

(D) (A 3R R) ZH & E 3 (R), (A) i T = 2
@ (A 3R R) I F 2 W R). (A) F TE = E 2
3 (A= 29 (R) T=E 7 |
4  (A) 7T 2 T (R) TR 2

Options :

5362286145. 1

5362286146. 2

5362286147.3
5362286148. 4

Question Number : 38 Question Id : 5362281579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

For wind power electricity generation which among the following type of rotors 1s most
commonly used?

(1) Multiblade rotor (2) Propeller rotor

(3) Savonius rotor (4) Darrieus rotor

Options :
5362286149. 1



5362286150. 2
5362286151. 3
5362286152. 4

Question Number : 38 Question Id : 5362281579 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TEH HH1 3918 B HeeTigd § H TRE TR % guih (T2T) W |9 9 wartas 5= R s 2 v

(1)  wdiecds T (2) YR T
(3) AT U (4) Sfm T
Options :

5362286149. 1
5362286150. 2
5362286151.3
5362286152. 4

Question Number : 39 Question Id : 5362281580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I: Chronic toxic effects result from single dose of very high toxic substance or

continuous exposure of sub lethal dose.
Statement I : Acute toxic effects are long lasting and irreversible mainly caused due to

prolonged exposure to toxins and survival rate 1s very low.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I 1s correct but Statement IT 1s false
(4) Statement I 1s incorrect but Statement II 1s true
Options :

5362286153. 1
5362286154. 2
5362286155. 3
5362286156. 4

Question Number : 39 Question Id : 5362281580 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



i 27 wyE o Tu E

FgT (): i sAiaF = 9519 F @ St SF%E ST 9WE 9ad F Had S G Hiew
feie woTE % =9 ° B4l 2 |
orrd § B I ufawlerd 219 2 a9 = Al § e F 99 9d i 2 w9 2l 2 |

ST FUAT F AAF ° ARG e §  EE I g

(1) =y I3 I 2 =8 2 |

(2  Fua IR I =M o 2 |

(3)  #vwA [5ea 2 fohg o I 77ed 2 |

4) = [ 5 7 g A &1 7 |
Options :
5362286153. 1
5362286154.2
5362286155. 3
5362286156. 4

Question Number : 40 Question Id : 5362281581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Which of the following goals are related to millennium Development Goals?

(A) Improving maternal health

(B) Controlling depletion of ozone laver

(C) Improving the life of slum dwellers

(D)  Creating smart city infrastructure

(E) Promoting gender equality and empowerment of women

Choose the most appropriate answer from the options given below :

(1) (A). (C) and (E) only (2) (A), (C), (D) and (E) only
(3)  (A). (B). (C) and (E) only (4) (A). (B). (D) and (E) only
Options :

5362286157. 1

5362286158. 2

5362286159. 3
5362286160. 4

Question Number : 40 Question Id : 5362281581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FAfaiEd 3 3 FH- Z2va HEEled [ e 5 matad 7 ¢

(A) g =EA T guR

(B)  SATH WA H & i A e

(C)  wfer sfial o 4 ot AT % AT d GUE e

(D) TR A SEE giaa

F= 7 ™ e § § T IR 96T
1) FF Q). (©) 3 E) @ ¥ (A). (O). D) 3 (E)
(3)  Fa (A). (B). (C) ¥ (E) @ ¥ (A). (B). D) 7 &)

Options :
5362286157. 1



5362286158. 2
5362286159. 3
5362286160. 4

Question Number : 41 Question Id : 5362281582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The Universities centered on the viharas during the Ancient India Period were situated at

(A) Navadeep
(B) Nalanda
(C) Valabhi
(D) Jagaddala

(E) Kanchi

Choose the correct answer from the options given below :

(1) (A). (B). (C) only (2) (B, (C), (D) only

(3) (C). (D). (E) only (4) (D), (E). (A) only
Options :

5362286161. 1
5362286162. 2
5362286163. 3
5362286164. 4

Question Number : 41 Question Id : 5362281582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T HRA § [9ER Fied favataaes Hefaiga 5 9 e e w fwm 97

(A) e

(B) AE

(C)  doordl

D) =g

(E) =il

e fo1 T et | @ R e g

1)  Fa A, B). (© @ F (B). (0). D)
(3) === (C). (D). (E) (4) == (D). (E). (A)

Options :

5362286161. 1
5362286162. 2
5362286163. 3
5362286164. 4

Question Number : 42 Question Id : 5362281583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps followed 1n the process of value clarification :

(A) Students are presented with an 1ssue

(B) Students suggest alternative solutions

(C) Students express their feelings about each alternative
(D) Students consider the consequences of each alternative

(E) Students express their preferences and make a choice

Choose the correct answer from the options given below :

(1) (A, (B). (C). (D). (E) (2) (A, (B). D). (C). (E)
(3) (A, (C). (B). (D). (E) (4)  A). B). (E). (C). (D)
Options :

5362286165. 1
5362286166. 2
5362286167. 3
5362286168. 4

Question Number : 42 Question Id : 5362281583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



T TSR] ST H SO AT = S S

Q)  TeEmefai # ow e faam S 2

B)  TaEneft SwfEE T g 3
(C)  Taensft wes fahea % a1 9 3191 WEA T wd # |
(D) Tt weaw e = afomat W fa=m w3 2

(E)  Teremedt s19+t mufaerare == #7d & 31 U oo 9d 7

Fr fau T et 8 @ w8 3w g
(1) (A). (B). (C). (D). (E) (2) (A, (B). (D). (C), (E)
(3) (A). (O), (B), (D). (E) 4) (A). (B). (E). (C). (D)

Options :

5362286165. 1
5362286166. 2
5362286167. 3
5362286168. 4

Question Number : 43 Question Id : 5362281584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

As per the recent All India Survey on Higher Education. the Gross Enrollment Ratio (GER)
in Higher education for the yvear 2018-19. in India 1s

(1) 24.6% (2) 25.6%
(3) 26.3% (4) 27.8%

Options :
5362286169. 1
5362286170. 2



5362286171. 3
5362286172. 4

Question Number : 43 Question Id : 5362281584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

foea = @era 4 =1 71 9 fopu T sifige v odew F AR, 9 9 99 2018-19 7F I=2 e ° wwa
T ST (S 3 9W) B -

(1) 24.6% (2) 25.6%
(3) 26.3% 4 27.8%
Options :

5362286169. 1
5362286170. 2
5362286171. 3
5362286172. 4

Question Number : 44 Question Id : 5362281585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

UGC portal "e-SARTS’ 1s for

(1) Special Assistance for Research in Technology and Sciences
(2) Special Assistance for Research and Traiming in Sciences
(3) Support for Academic and Research Training in Social Sciences

(4) Scholarship-Fellowship Award Registration Tracking System

Options :

5362286173. 1
5362286174.2
5362286175. 3
5362286176. 4



Question Number : 44 Question Id : 5362281585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

7 51 =i 9 ‘e-STARTS' Ftainad § | o fom 27
(1) o st dtafef 4 sgEam = o fagm wsma
(2  fawm ¥ ufiemr 3t sgEE % foo e |
(3)  THTH AT W WiaE U Iy wiEe e qmea

Options :

5362286173. 1

5362286174 2

5362286175.3
5362286176. 4

Question Number : 45 Question Id : 5362281586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

An 1nstitution in the flield of higher education desirous of getting the status of ‘Deemed to be
University’ has to fulfill the following criteria :

(A)  The institution must be at least 10 years old

(B) Its NAAC CGPA 1s atleast 3.26

(C) It figures in top 100 ranks of NIRF in overall category of institutions and universities.
(D)  Teacher student ratio in the institution 1s at least 1:20

(E) Number of teachers (faculty) 1s atleast 50.

Choose the correct answer from the options given below :

(1)  (A). B). (C) and (D) only (2) (B). (C) and (D) only
(3) (B). (C). (D) and (E) only (4) (A). (C). (D) and (E) only



Options :

5362286177. 1
5362286178. 2
5362286179. 3
5362286180. 4

Question Number : 45 Question Id : 5362281586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

v=da e % &@ H WiHa FvataEres (Srs 7 o JFatad) w1 3= o Al = wEd ael R e
(A)  HE H FE A FE gE A WA A =i

(B)  F9F 4% (NAAC) #1 &1 3 ff v %8 & %9 3.26 =

(C)  =EmAl i favatere= +i 99 4 9 v A 91 UF % 309 100 T 9 351 919 26 =180 |
(D) =& 9 T -Taendi FATE FH o =9 1:20 BT =0T |

(E)  foreg=t (qma) =1 e %9 @ %8 50 7 |

(1) =4 (A). (B). (C) 3T (D) (2) == (B), (C) # (D)
(3)  F=4 (B). (C). D) 31 (E) (4) F== (A). (C). D) = (E)
Options :

5362286177. 1
5362286178. 2
5362286179. 3
5362286180. 4

Sub-Section Number : 3
Sub-Section Id : 53622863
Question Shuffling Allowed : Yes



Question Id : 5362281587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

People seldom continue to do things that do not provide positive reinforcement, either
through external reward or internal satisfaction. In addition to its effect on the continuation
of a particular behaviour, extinction can also have an emotional impact. We could predict, for
example. with an excellent chance of being correct, that an employvee will become surely, will
complain more than before, or will have problems getting along with his co-workers.
Emotional behaviour usually accompanies extinction when reinforcement or punishment is
withheld. Parents often extinguish behaviours umintentionally when they pay attention only
when their children are behaving poorly. If parents pay little or no attention when the
children are behaving appropriately, they in a sense, put the behaviour on extinetion. A child
who wants attention — a reward — from the parents may be willing to endure what the
parents think is punishment to get it. So, in the long run. the parents might be reinforcing
inappropriate behaviour: yvet it happens all the time. This phenomenon iz also very common
in the world of work. For example, a manager’s work/group had responded well to a high
task-low relationship. dealing firmly with inappropriate behaviour. Now suddenly this style
1s not achieving results, and followers are being disruptive and making unreasonable
demands. Positively reinforcing inappropriate behaviour generally results In more unwanted
behaviour.

Sub questions

Question Number : 46 Question Id : 5362281588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



What do people need to continue working for internal satisfaction?

(1) Some threat

(2) Some emotional reaction

(3) Some pleasant experience after the behaviour occurs
(4) Threat mixed with something pleasant

Options :

5362286181. 1
5362286182. 2
5362286183. 3
5362286184. 4

Question Number : 47 Question Id : 5362281589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When a reinforcement 1s withheld from a worker. 1t may lead. inter alia, to

(1) expectation of getting something pleasant
(2) decrease 1n complaining behaviour
(3) expectation of threats

(4) evocation of negative emotions

Options :

5362286185. 1
5362286186. 2
5362286187. 3
5362286188. 4



Question Number : 48 Question Id : 5362281590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

When the unintended neglect of appropriate behaviour results in
(1) extinction of that behaviour

(2) seeking reward for appropriate behaviour

(3) positive reinforcement

(4) further occurrence of the original behaviour
Options :

5362286189. 1
5362286190. 2
5362286191. 3
5362286192. 4

Question Number : 49 Question Id : 5362281591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Positively reinforcing inappropriate behaviour 1s an error because 1t results 1n

(1) continuation of inappropriate behaviour
(2) dropping of inappropriate behaviour
(3) misbehaviour
(4) negative emotions
Options :

5362286193. 1
5362286194. 2
5362286195. 3
5362286196. 4

Question Number : 50 Question Id : 5362281592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



The focus of the passage 1s on

(1) reward and punishment policies In an organisation

(2) high risk relationship between managers and workers

(3) the managerial attitude towards workers

(4) the negative consequences of positive reinforcement
Options :

5362286197. 1
5362286198. 2
5362286199. 3
5362286200. 4

Question Id : 5362281587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362281588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



<At A sridfeR Gt % wEa e T o o f e i e A E

(1) EzzileE At lore
(2) TS SEATHS T
3 Fd AR 2 WW AH=ETF AT

(4) TP ges TidiEman & =@y auh

Options :

5362286181. 1
5362286182. 2
5362286183. 3
5362286184. 4

Question Number : 47 Question Id : 5362281589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

& TRl Afad] § wee w0 g T AT B a1 SEeER uieid a1 S F Wy -"y Heeigd § 9

(1) T g@e TH H AHE
(2) a9 9 =EEn | w51
(3) Al F T

(4)  TEEEEE HEATHAT F IEE

Options :
5362286185. 1



5362286186. 2
5362286187. 3
5362286188. 4

Question Number : 48 Question Id : 5362281590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T=l o 1o I ARl =l ey w9 4 Ht 3uan e SH i iont B 2

(1) 9 =9sd & A9 |

(2) 999 =MEER F [0 TERR F 0 A 1

(3) AFRTHF Taed o

(4) W =EE % 9= | gfed w6 |
Options :
5362286189. 1
5362286190. 2
5362286191. 3
5362286192. 4

Question Number : 49 Question Id : 5362281591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEHF T H TSieid A 909 SAaER U 9ol 7 I 3l THd Bl 7

(1) 7994 =J9=R 90 & 4
@) T R o |
(3) FEERH

(4)  TFEOCHF WA

Options :

5362286193. 1
5362286194. 2
5362286195. 3



5362286196. 4

Question Number : 50 Question Id : 5362281592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=0 e w1 FefetEa 1 9 e w2

(1) T 977 | TEFR 31F 23 et Jiaa ™
(2)  TEEE S SAERET % A R Fiigs 9 ey W
(3) Ay % i weudE gm

(4) OFcHT Taed & TFRIHF 90y

Options :

5362286197. 1
5362286198. 2
5362286199. 3
5362286200. 4

PART II Urdu
Section Id : 53622822
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 53622864
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362281593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362286201. 1
5362286202. 2
5362286203. 3
5362286204. 4

Question Number : 51 Question Id : 5362281593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

U“L—fL?'L-L.-E"tﬁJ[JM 2 /f{_, ”{:...'J:;,,ti

5. i

Az © ECs
Cilr @ OI6¥  ©
Options :

5362286201. 1
5362286202. 2
5362286203. 3
5362286204. 4

Question Number : 52 Question Id : 5362281594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



A (2) .J;' (1)
22 @ 4 N
Options :

5362286205. 1
5362286206. 2
5362286207. 3
5362286208. 4

Question Number : 52 Question Id : 5362281594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A (2) .J;' (1)
22 @ 4 N
Options :

5362286205. 1
5362286206. 2
5362286207. 3
5362286208. 4

Question Number : 53 Question Id : 5362281595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



] £ = ¢ @ s B L 3
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Options :

5362286209. 1
5362286210. 2
5362286211.3
5362286212. 4

Question Number : 53 Question Id : 5362281595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

3 fo ) % a4 s
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-
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Options :

5362286209. 1
5362286210. 2
5362286211. 3
5362286212. 4

Question Number : 54 Question Id : 5362281596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362286213. 1
5362286214.2
5362286215. 3
5362286216. 4

Question Number : 54 Question Id : 5362281596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



dzdl @
AU1 VY )

Lu'}_.-b l: {4)

Options :

5362286213. 1
5362286214. 2
5362286215.3
5362286216. 4

Question Number : 55 Question Id : 5362281597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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~{ QL;@IM:{J@V[&';MQ 1‘:.":,!'»*'- ;'I/:fgjlu";}:;:diﬂ: (4)

Options :

5362286217. 1
5362286218. 2
5362286219. 3
5362286220. 4

Question Number : 55 Question Id : 5362281597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286217. 1
5362286218. 2
5362286219. 3
5362286220. 4

Question Number : 56 Question Id : 5362281598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



NIV A BAY P2
-éfﬁﬁmﬂaifw CI %

il ;_,JL? AJI Z. W - J,/ (1)

* |

3
~
Ca
3,
p=
c

C:

(2)
T R T ST T S

L,JL-?} E UC;[. 3 F Y -'.).'..-J.r E_-La (4)

Options :

5362286221. 1
5362286222.2
5362286223. 3
5362286224. 4

Question Number : 56 Question Id : 5362281598 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286221. 1
5362286222.2
5362286223. 3
5362286224. 4

Question Number : 57 Question Id : 5362281599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286225. 1



5362286226. 2
5362286227. 3
5362286228. 4

Question Number : 57 Question Id : 5362281599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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P
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Options :

5362286225. 1
5362286226. 2
5362286227. 3
5362286228. 4

Question Number : 58 Question Id : 5362281600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286229. 1
5362286230. 2
5362286231. 3



5362286232. 4

Question Number : 58 Question Id : 5362281600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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W e .
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Options :

5362286229. 1
5362286230. 2
5362286231.3
5362286232. 4

Question Number : 59 Question Id : 5362281601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286233. 1
5362286234. 2
5362286235. 3
5362286236. 4

Question Number : 59 Question Id : 5362281601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286233. 1
5362286234. 2
5362286235. 3
5362286236. 4

Question Number : 60 Question Id : 5362281602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286237. 1
5362286238. 2
5362286239. 3
5362286240. 4

Question Number : 60 Question Id : 5362281602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286237. 1
5362286238. 2
5362286239. 3
5362286240. 4

Question Number : 61 Question Id : 5362281603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286241. 1



5362286242.2
5362286243. 3
5362286244. 4

Question Number : 61 Question Id : 5362281603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286241. 1
5362286242. 2
5362286243. 3
5362286244. 4

Question Number : 62 Question Id : 5362281604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286245. 1
5362286246. 2
5362286247. 3



5362286248. 4

Question Number : 62 Question Id : 5362281604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286245.
5362286246.
5362286247.
5362286248.
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Question Number : 63 Question Id : 5362281605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286249. 1
5362286250. 2
5362286251. 3
5362286252. 4



Question Number : 63 Question Id : 5362281605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286249. 1
5362286250. 2
5362286251. 3
5362286252. 4

Question Number : 64 Question Id : 5362281606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286253. 1
5362286254. 2
5362286255. 3
5362286256. 4



Question Number : 64 Question Id : 5362281606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286253. 1
5362286254. 2
5362286255. 3
5362286256. 4

Question Number : 65 Question Id : 5362281607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286257. 1
5362286258. 2
5362286259. 3
5362286260. 4



Question Number : 65 Question Id : 5362281607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286257. 1
5362286258. 2
5362286259. 3
5362286260. 4

Question Number : 66 Question Id : 5362281608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

oo Warkb ) PS
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b @ 2w
L@ Ol ®
Options :

5362286261. 1
5362286262. 2
5362286263. 3
5362286264. 4

Question Number : 66 Question Id : 5362281608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286261. 1
5362286262. 2
5362286263. 3
5362286264. 4

Question Number : 67 Question Id : 5362281609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286265. 1
5362286266. 2
5362286267. 3
5362286268. 4

Question Number : 67 Question Id : 5362281609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286265. 1
5362286266. 2
5362286267. 3
5362286268. 4

Question Number : 68 Question Id : 5362281610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286269. 1
5362286270. 2
5362286271. 3
5362286272. 4

Question Number : 68 Question Id : 5362281610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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LE';?J (4) J.L:J'f (3)
Options :

5362286269. 1
5362286270. 2
5362286271. 3
5362286272. 4

Question Number : 69 Question Id : 5362281611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362286273. 1
5362286274.2
5362286275. 3
5362286276. 4

Question Number : 69 Question Id : 5362281611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286273. 1
5362286274.2
5362286275. 3
5362286276. 4

Question Number : 70 Question Id : 5362281612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286277. 1
5362286278. 2
5362286279. 3
5362286280. 4

Question Number : 70 Question Id : 5362281612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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5362286277. 1
5362286278. 2
5362286279. 3
5362286280. 4

Question Number : 71 Question Id : 5362281613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286281. 1
5362286282. 2
5362286283. 3
5362286284. 4

Question Number : 71 Question Id : 5362281613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286281. 1



5362286282. 2
5362286283. 3
5362286284. 4

Question Number : 72 Question Id : 5362281614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286285. 1
5362286286. 2
5362286287. 3
5362286288. 4

Question Number : 72 Question Id : 5362281614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286285. 1



5362286286. 2
5362286287. 3
5362286288. 4

Question Number : 73 Question Id : 5362281615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286289. 1
5362286290. 2
5362286291. 3
5362286292. 4

Question Number : 73 Question Id : 5362281615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286289. 1
5362286290. 2
5362286291. 3
5362286292. 4

Question Number : 74 Question Id : 5362281616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286293. 1
5362286294, 2

5362286295. 3
5362286296. 4

Question Number : 74 Question Id : 5362281616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286293. 1
5362286294. 2
5362286295. 3
5362286296. 4

Question Number : 75 Question Id : 5362281617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286297. 1
5362286298. 2
5362286299. 3
5362286300. 4

Question Number : 75 Question Id : 5362281617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286297. 1
5362286298. 2
5362286299. 3
5362286300. 4

Question Number : 76 Question Id : 5362281618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362286301. 1
5362286302. 2
5362286303. 3
5362286304. 4

Question Number : 76 Question Id : 5362281618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286301. 1
5362286302. 2
5362286303. 3
5362286304. 4

Question Number : 77 Question Id : 5362281619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286305.
5362286306.
5362286307.
5362286308.

AW N~

Question Number : 77 Question Id : 5362281619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286305.
5362286306.
5362286307.
5362286308.

AW N =

Question Number : 78 Question Id : 5362281620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

5362286309. 1
5362286310. 2
5362286311. 3
5362286312. 4

Question Number : 78 Question Id : 5362281620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286309. 1
5362286310. 2
5362286311. 3



5362286312. 4

Question Number : 79 Question Id : 5362281621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286313. 1
5362286314. 2
5362286315.3
5362286316. 4

Question Number : 79 Question Id : 5362281621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286313. 1
5362286314.2
5362286315. 3
5362286316. 4

Question Number : 80 Question Id : 5362281622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286317. 1
5362286318. 2
5362286319. 3
5362286320. 4

Question Number : 80 Question Id : 5362281622 Question Type :

Correct Marks : 2 Wrong Marks : 0

(1)

(2)

(4)

MCQ Option Shuffling : No Is Question Mandatory : No
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Options :

5362286317. 1
5362286318. 2
5362286319. 3
5362286320. 4

Question Number : 81 Question Id : 5362281623 Question Type :

Correct Marks : 2 Wrong Marks : 0

(1)

(2)

(4)

MCQ Option Shuffling : No Is Question Mandatory : No
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Options :

5362286321. 1
5362286322.2
5362286323. 3
5362286324. 4

Question Number : 81 Question Id : 5362281623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :



5362286321. 1
5362286322.2
5362286323. 3
5362286324. 4

Question Number : 82 Question Id : 5362281624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286325. 1
5362286326. 2
5362286327. 3
5362286328. 4

Question Number : 82 Question Id : 5362281624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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5362286327. 3
5362286328. 4

Question Number : 83 Question Id : 5362281625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286329. 1
5362286330. 2
5362286331.3
5362286332. 4

Question Number : 83 Question Id : 5362281625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286329. 1
5362286330. 2
5362286331. 3
5362286332. 4

Question Number : 84 Question Id : 5362281626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
5362286333. 1



5362286334. 2
5362286335. 3
5362286336. 4

Question Number : 84 Question Id : 5362281626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286333. 1
5362286334. 2
5362286335.3
5362286336. 4

Question Number : 85 Question Id : 5362281627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286337. 1
5362286338. 2
5362286339. 3
5362286340. 4

Question Number : 85 Question Id : 5362281627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286337. 1
5362286338. 2
5362286339. 3
5362286340. 4



Question Number : 86 Question Id : 5362281628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286341. 1
5362286342. 2
5362286343. 3
5362286344. 4

Question Number : 86 Question Id : 5362281628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286341. 1
5362286342.2
5362286343. 3
5362286344. 4

Question Number : 87 Question Id : 5362281629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286345. 1
5362286346. 2
5362286347. 3



5362286348. 4

Question Number : 87 Question Id : 5362281629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286345. 1
5362286346. 2
5362286347. 3
5362286348. 4

Question Number : 88 Question Id : 5362281630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286349. 1
5362286350. 2
5362286351. 3
5362286352. 4



Question Number : 88 Question Id : 5362281630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 89 Question Id : 5362281631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 89 Question Id : 5362281631 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 90 Question Id : 5362281632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 90 Question Id : 5362281632 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 5362281633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 91 Question Id : 5362281633 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 92 Question Id : 5362281634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 92 Question Id : 5362281634 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 93 Question Id : 5362281635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



= b
UG e pinUaLs
4:3;!&&/ (A)

Vi :-'5!':”&*-‘/?; (B)

U,CI:J{//&}LF:: (C)

-
=1

ol itiiel (D)

i - Sl
- :"_f:u._;tt‘)o;,,-;f
(C) AB @ (C) Al (A) (1)

®) 4l @ @A 2 @

Options :

5362286369. 1
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Question Number : 93 Question Id : 5362281635 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 5362281636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 94 Question Id : 5362281636 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 95 Question Id : 5362281637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 95 Question Id : 5362281637 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e

JLE e pine il

o S - Ziolel @A)
A r
= ~ 2~ (©
el / el
o A = ;;,H/ sl (D)

L4 . o 4
: a.f:u.;tﬂu;,,-;f

B) 2 @) (D) .2l (A (1)
@A) »1(©) @ @ 2® 3
Options :

5362286377. 1
5362286378. 2
5362286379. 3
5362286380. 4

Question Number : 96 Question Id : 5362281638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 96 Question Id : 5362281638 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 97 Question Id : 5362281639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 97 Question Id : 5362281639 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 5362281640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 98 Question Id : 5362281640 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 99 Question Id : 5362281641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 99 Question Id : 5362281641 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 100 Question Id : 5362281642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 100 Question Id : 5362281642 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 101 Question Id : 5362281643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 101 Question Id : 5362281643 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 102 Question Id : 5362281644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 102 Question Id : 5362281644 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



P o :: '{ -
~ u;,s:l/’u.-_,'}jmég::

'3 v BF
QJ%LE:M ‘ﬁyﬁeb 2 U;{,llﬁy:rb (A)
{ i
JedS iUt re By G ®
(1o 'L’}}.slf',?f [:,; .:J:;_L; : JL_/T: (C)

Lol rtdld  : Eedls o

© 2@ @ D) 2@ (@

B D (@) © »2® 3

Options :

5362286405. 1
5362286406. 2
5362286407. 3
5362286408. 4

Question Number : 103 Question Id : 5362281645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 103 Question Id : 5362281645 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 104 Question Id : 5362281646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 104 Question Id : 5362281646 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 105 Question Id : 5362281647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 105 Question Id : 5362281647 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 106 Question Id : 5362281648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 106 Question Id : 5362281648 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: Uff_g.f_.._/h::_.df-pti

WSty @
d:_r-.L-rJT F{:-._.-«[Ef-_’-«JTKJZF (B)
P ST UL B ©

JLJ’ }J;JJFJEJ}@;-;_,C‘&U..T..rl:‘{if";,d;} (D)

: éd»t‘ﬂja..;;ég

D »®B (2 B) M (A) (1)
@) @A) @ D) 1) (3)
Options :

5362286421. 1
5362286422. 2
5362286423. 3
5362286424. 4

Question Number : 107 Question Id : 5362281649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 107 Question Id : 5362281649 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 108 Question Id : 5362281650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 108 Question Id : 5362281650 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5 . cop et - : ¢
:aﬁ-u*:,;_;;L-aSu,a/;é;m,;w,z,:fd,ufrmfb-wc’fﬂ;ﬂﬂéfutiﬁﬂ

U(J’ T G245 21 @
Py - &
Ji, I Goll sl o ;'7 (B)

U S4JB s ©

A1 Jir

B 21D @ (B) 44 (A) (1)

® M @ (C) .2 (D) (3)

Options :

5362286429. 1
5362286430. 2
5362286431. 3
5362286432. 4

Question Number : 109 Question Id : 5362281651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



@ e i ( ; W
wfs:u-’-uuzée:ﬂ;,;,,ga,.-_;,e_tf,._:,wr,.,.g’;

JbP SISl Sl S }JJ:IIg"LEJE' (A)

5 b
sl - G0 ®
e - ke ©
P - Q2 Bl

B) 21(C) (@ ® 2@ (@
(A) 21D @ © 21D 3
Options :

5362286433. 1
5362286434. 2
5362286435. 3
5362286436. 4

Question Number : 109 Question Id : 5362281651 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



@ e i ( ; W
wfs:u-’-uuzée:ﬂ;,;,,ga,.-_;,e_tf,._:,wr,.,.g’;

JbP SISl Sl S }JJ:IIg"LEJE' (A)

5 b
sl - G0 ®
e - ke ©
P - Q2 Bl

B) 21(C) (@ ® 2@ (@
(A) 21D @ © 21D 3
Options :

5362286433. 1
5362286434. 2
5362286435. 3
5362286436. 4

Question Number : 110 Question Id : 5362281652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-J.:-w;-/_.-f.:}.h:'.-ycpti

i - 7 | i
L'P'ILJUJI;L'?I-JJ;»-'VQQ.,.4';-(_5:':11“‘ A)
f,-' b'uru..-«"[#f;):r (B)

ol - - .d
oSG <l ©

2L 2 # ©

5w et .
: ciﬁqu;-;/;ég

() 24 ® @ B) .2l A (1)
B2 D) @ © 2@ o6
Options :

5362286437. 1
5362286438. 2
5362286439. 3
5362286440. 4

Question Number : 110 Question Id : 5362281652 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-J.:-w;-/_.-f.:}.h:'.-ycpti

i - 7 | i
L'P'ILJUJI;L'?I-JJ;»-'VQQ.,.4';-(_5:':11“‘ A)
f,-' b'uru..-«"[#f;):r (B)

ol - - .d
oSG <l ©

2L 2 # ©

5w et .
: ciﬁqu;-;/;ég

() 24 ® @ B) .2l A (1)
B2 D) @ © 2@ o6
Options :

5362286437. 1
5362286438. 2
5362286439. 3
5362286440. 4

Question Number : 111 Question Id : 5362281653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e

; b
LG e pinUa L

LJF-E-QJ-J:._;"*G*&‘;ijf-lf;djl_ljf (A)

Jnﬂij g,, ¥ {:;vagflx (B)

,;_;,'Iu"fu'y- [l ,»f (©)
L 4 2oy
5 G1s A8 ,;:é*u'éf;:g.ﬁ D)

: é@jl}“}ﬁu;ﬂ;éﬂ

© 2® @ ®) 2@ @
A 21D @ D 2B (3
Options :

5362286441. 1
5362286442. 2
5362286443. 3
5362286444. 4

Question Number : 111 Question Id : 5362281653 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e

; b
LG e pinUa L

LJF-E-QJ-J:._;"*G*&‘;ijf-lf;djl_ljf (A)

Jnﬂij g,, ¥ {:;vagflx (B)

,;_;,'Iu"fu'y- [l ,»f (©)
L 4 2oy
5 G1s A8 ,;:é*u'éf;:g.ﬁ D)

: é@jl}“}ﬁu;ﬂ;éﬂ

© 2® @ ®) 2@ @
A 21D @ D 2B (3
Options :

5362286441. 1
5362286442. 2
5362286443. 3
5362286444. 4

Question Number : 112 Question Id : 5362281654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



UG .L.-_/,F,!Juﬁg_,ti

J’K,,:_,J ,c:_f_,-'.:"“’;,-‘;.;-..«:&f's{_,,'? e ¥ (A)
L:H{'L,.-n U”}I.L;jg_ﬁ {B}

U =8Bl (©

V. 2
}ﬁjé.ﬁi 33..-*[5_,,{:]: LEJJI-“:-J&'JJEbQ (D)

éﬁjﬁspl'/‘zg
(C) "l B @ (B) A (A) (1)
@) @A) @ @ #@© 3

Options :

5362286445. 1
5362286446. 2
5362286447. 3
5362286448. 4

Question Number : 112 Question Id : 5362281654 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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J’K,,:_,J ,c:_f_,-'.:"“’;,-‘;.;-..«:&f's{_,,'? e ¥ (A)
L:H{'L,.-n U”}I.L;jg_ﬁ {B}

U =8Bl (©

V. 2
}ﬁjé.ﬁi 33..-*[5_,,{:]: LEJJI-“:-J&'JJEbQ (D)

éﬁjﬁspl'/‘zg
(C) "l B @ (B) A (A) (1)
@) @A) @ @ #@© 3

Options :

5362286445. 1
5362286446. 2
5362286447. 3
5362286448. 4

Question Number : 113 Question Id : 5362281655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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UG i L,ti&,u

ALl AUl Z Lo bazsls @
‘gduﬂr.ﬁ’ﬁm;;.@-&fg 2 (B)
L,FEJ!J*" .L;JL;;JF“]::’“”-LEL:;{J&H (C)

LELJE’J Vler b pl 260 )

o e

d':u ,CLTJULJJ;;Z;‘
(C) @B (@2 @ 2@ @
A) 21D (@ D 2B (3

Options :

5362286449. 1
5362286450. 2
5362286451. 3
5362286452. 4

Question Number : 113 Question Id : 5362281655 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



r’d

UG i L,ti&,u

ALl AUl Z Lo bazsls @
‘gduﬂr.ﬁ’ﬁm;;.@-&fg 2 (B)
L,FEJ!J*" .L;JL;;JF“]::’“”-LEL:;{J&H (C)

LELJE’J Vler b pl 260 )

o e

d':u ,CLTJULJJ;;Z;‘
(C) @B (@2 @ 2@ @
A) 21D (@ D 2B (3

Options :

5362286449. 1
5362286450. 2
5362286451. 3
5362286452. 4

Question Number : 114 Question Id : 5362281656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



p . -
:z?:'d.;E‘JL';LJ:/J;{HLL«ULJ?"L#}“’

L,t J_!FLEJ ; - U’&y,‘.ﬂ‘ ! (C)

# | | H o
GO Fniy —chlll - _J?LL D)

Cl

(D)4 By (2 (C).2l (A) (1)
®).4(©) (@ ©2D 3
Options :

5362286453. 1
5362286454. 2
5362286455. 3
5362286456. 4

Question Number : 114 Question Id : 5362281656 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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:z?:'d.;E‘JL';LJ:/J;{HLL«ULJ?"L#}“’

L,t J_!FLEJ ; - U’&y,‘.ﬂ‘ ! (C)

# | | H o
GO Fniy —chlll - _J?LL D)

Cl

(D)4 By (2 (C).2l (A) (1)
®).4(©) (@ ©2D 3
Options :

5362286453. 1
5362286454. 2
5362286455. 3
5362286456. 4

Question Number : 115 Question Id : 5362281657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-ﬁég,;,/;u:ﬂgkuimﬁégfmﬁb

ﬁ/g";,uh__.,:! ;J,-'/r,-_JT (A)

O At @

& UVG g4 ©

C sl :,'Jf*] l»‘if*:’ | (D)

: Z:J A-‘L':'J.SL..;- Jéﬂ
B 41 @ A 2H® @O
A 21D @ © 2O 3
Options :

5362286457. 1
5362286458. 2
5362286459. 3
5362286460. 4

Question Number : 115 Question Id : 5362281657 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-ﬁég,;,/;u:ﬂgkuimﬁégfmﬁb

ﬁ/g";,uh__.,:! ;J,-'/r,-_JT (A)

O At @

& UVG g4 ©

C sl :,'Jf*] l»‘if*:’ | (D)

: Z:J A-‘L':'J.SL..;- Jéﬂ
B 41 @ A 2H® @O
A 21D @ © 2O 3
Options :

5362286457. 1
5362286458. 2
5362286459. 3
5362286460. 4

Question Number : 116 Question Id : 5362281658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



L g ] T - '{ -
: E*;_..;ﬁ:..lf'bﬁl,)d..gllfu'};rﬂ UJ.J

LEJ' n @ -  (a)

& -
L <
OB i) C ©
L?L (iv) & @

o~ 50 '( L
: é AP OIL Z,,f
(11) (d)+(1v) (e)+(111) (b)<(1) (a) (1)
(iv) (d)(1) (e)<@) (b)) (a)  (2)
(1) (d)<av) (c)<(11) (b)«(111) (a) (3)
(111) (d)<(11) (c)<(1) (b)<(1v) (a) (4)
Options :

5362286461. 1
5362286462. 2
5362286463. 3
5362286464. 4

Question Number : 116 Question Id : 5362281658 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



L g ] T - '{ -
: E*;_..;ﬁ:..lf'bﬁl,)d..gllfu'};rﬂ UJ.J

LEJ' n @ -  (a)

& -
L <
OB i) C ©
L?L (iv) & @

o~ 50 '( L
: é AP OIL Z,,f
(11) (d)+(1v) (e)+(111) (b)<(1) (a) (1)
(iv) (d)(1) (e)<@) (b)) (a)  (2)
(1) (d)<av) (c)<(11) (b)«(111) (a) (3)
(111) (d)<(11) (c)<(1) (b)<(1v) (a) (4)
Options :

5362286461. 1
5362286462. 2
5362286463. 3
5362286464. 4

Question Number : 117 Question Id : 5362281659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: E‘:‘:—r,fﬂlf'bii;;}fw

Sorlizdl 6 s gd @
S G ::,J-i{;_,,-L (b)
Lﬁ.ag;:*';g (ii) dfg (c)
JAIS 2 ) Q‘:f._.-u:,:ﬁ @

(111) (d) “(1) (c) «(1) (b) <(av) (a) (1)
(1) (d) «(11) (c) «(1v) (b) «(111) (a) (2)
(11) (d) «(11) (c) “@av) (b) «(1) (a) (3)

(1) (d) «av) (c) «(1) (b) «(u)(a) (4)

Options :

5362286465. 1
5362286466. 2
5362286467. 3
5362286468. 4

Question Number : 117 Question Id : 5362281659 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: E‘:‘:—r,fﬂlf'bii;;}fw

Sorlizdl 6 s gd @
S G ::,J-i{;_,,-L (b)
Lﬁ.ag;:*';g (ii) dfg (c)
JAIS 2 ) Q‘:f._.-u:,:ﬁ @

(111) (d) “(1) (c) «(1) (b) <(av) (a) (1)
(1) (d) «(11) (c) «(1v) (b) «(111) (a) (2)
(11) (d) «(11) (c) “@av) (b) «(1) (a) (3)

(1) (d) «av) (c) «(1) (b) «(u)(a) (4)

Options :

5362286465. 1
5362286466. 2
5362286467. 3
5362286468. 4

Question Number : 118 Question Id : 5362281660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e e o leg FUnib S

G @ ;i:fl.ff}l_@f ()

<z G L;E’Z (b)

< Jroslb i) =zl (9
26055 6w dd @

(1) (d) «(v) (c) (1) (b) «(11) (a) (1)
(1) (d)+(v) (c)<(11) (b)<(111) (a) (2)
(11) (d)+(xv) ()<(111) (b)<(1) (a) (3)

(111) (d)«(11) (e)(1) (b)+(1v) (@)  (4)

Options :

5362286469. 1
5362286470. 2
5362286471. 3
5362286472. 4

Question Number : 118 Question Id : 5362281660 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e e o leg FUnib S

G @ ;i:fl.ff}l_@f ()

<z G L;E’Z (b)

< Jroslb i) =zl (9
26055 6w dd @

(1) (d) «(v) (c) (1) (b) «(11) (a) (1)
(1) (d)+(v) (c)<(11) (b)<(111) (a) (2)
(11) (d)+(xv) ()<(111) (b)<(1) (a) (3)

(111) (d)«(11) (e)(1) (b)+(1v) (@)  (4)

Options :

5362286469. 1
5362286470. 2
5362286471. 3
5362286472. 4

Question Number : 119 Question Id : 5362281661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: édjﬁ{jiﬁ{a&lf&idﬁbmﬁ‘

S0 L) ) AEE @
Ur1ed G w2 )
Lub’_ﬁ (i) ;-__},-*fgl_g ©

& @ O @

(1) (@)<(1) (o)1) (b)(v) (@) (1)
() (@)@ (e)iv) (b)<(iid) (@)  (2)
(1v) (d)<(1) (e)-(ii1) (b)(11) (@)  (3)

(1) (d)+(11) (e)+(1v) (b)<(111) (a) (4)

Options :

5362286473. 1
5362286474.2
5362286475. 3
5362286476. 4

Question Number : 119 Question Id : 5362281661 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: édjﬁ{jiﬁ{a&lf&idﬁbmﬁ‘

S0 L) ) AEE @
Ur1ed G w2 )
Lub’_ﬁ (i) ;-__},-*fgl_g ©

& @ O @

(1) (@)<(1) (o)1) (b)(v) (@) (1)
() (@)@ (e)iv) (b)<(iid) (@)  (2)
(1v) (d)<(1) (e)-(ii1) (b)(11) (@)  (3)

(1) (d)+(11) (e)+(1v) (b)<(111) (a) (4)

Options :

5362286473. 1
5362286474.2
5362286475. 3
5362286476. 4

Question Number : 120 Question Id : 5362281662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: édﬂ:L%L‘;n__-rlﬁé‘ﬁ-xg‘[i-ulhfr:.j/.::dié-w ;h“
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ke © gL @
JJ;ILI/,’-&’ (i1) »::‘ f <~ (b
A A2 i) S 2L ©
A el ) 3 @

(@) (d)«(11) (c)(iv) (b)+(iil) (a) (1)
(11) (d)«(1) (e)+(111) (b)<(1v) (a) (2)
(111) (d)+(11) (¢)(1v) (b)+(1) (a) (3)

(1v) (d)<(111) (c)+(2) (b)<(11) (a) (4)

Options :

5362286477. 1
5362286478. 2
5362286479. 3
5362286480. 4

Question Number : 120 Question Id : 5362281662 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



: édﬂ:L%L‘;n__-rlﬁé‘ﬁ-xg‘[i-ulhfr:.j/.::dié-w ;h“
r:

ke © gL @
JJ;ILI/,’-&’ (i1) »::‘ f <~ (b
A A2 i) S 2L ©
A el ) 3 @

(@) (d)«(11) (c)(iv) (b)+(iil) (a) (1)
(11) (d)«(1) (e)+(111) (b)<(1v) (a) (2)
(111) (d)+(11) (¢)(1v) (b)+(1) (a) (3)

(1v) (d)<(111) (c)+(2) (b)<(11) (a) (4)

Options :

5362286477. 1
5362286478. 2
5362286479. 3
5362286480. 4

Question Number : 121 Question Id : 5362281663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



5 4 e " o
-c‘:{u*,a:ngiﬁga;wld.uzbﬂﬁpfﬁ

,ﬁk_(! L7l @ I:'IlfLaf:I,..»r (a)
< IbEF @) 2R m)
t:,-l;.i_ﬁ!,:_.?.:'.f (iii) ;_;-*"JFL"}T-"r ()

T v Jlugﬁ'llff (d)

(i) (d)«(@) ()(iv) (b)) (a) (1)

(111) (d)@v) (e)y(@) (b)) (@)  (2)

(1v) (d)(111) (e)<(m1) (b)(1) ()  (3)

(1) (d)+(11) (e)«(111) (b)+(iv) (a) (4)

Options :

5362286481. 1
5362286482. 2
5362286483. 3
5362286484. 4

Question Number : 121 Question Id : 5362281663 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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-c‘:{u*,a:ngiﬁga;wld.uzbﬂﬁpfﬁ

,ﬁk_(! L7l @ I:'IlfLaf:I,..»r (a)
< IbEF @) 2R m)
t:,-l;.i_ﬁ!,:_.?.:'.f (iii) ;_;-*"JFL"}T-"r ()

T v Jlugﬁ'llff (d)

(i) (d)«(@) ()(iv) (b)) (a) (1)

(111) (d)@v) (e)y(@) (b)) (@)  (2)

(1v) (d)(111) (e)<(m1) (b)(1) ()  (3)

(1) (d)+(11) (e)«(111) (b)+(iv) (a) (4)

Options :

5362286481. 1
5362286482. 2
5362286483. 3
5362286484. 4

Question Number : 122 Question Id : 5362281664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-éi'{nj:;:Lf*jéhfiﬁga;.;ﬁléuiﬁﬁﬂdfw

Spbssir G bl lly @
<7 @) T u’*‘; 7
.::L?.__.,T (ii1) UL?.-_;"“*;._‘.&{EH (c)

QS AE @

(1) (@)@ (e)y() (b)av) (@) (1)
(1) (d)<(1) (c)@v) (b)<(11) (@)  (2)
(1) (d)+(u1) (c)(1) (b)(av) (@)  (3)

(m) (d)+(1) (e)(1) (b)(v) (a)  (4)

Options :

5362286485. 1
5362286486. 2
5362286487. 3
5362286488. 4

Question Number : 122 Question Id : 5362281664 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-éi'{nj:;:Lf*jéhfiﬁga;.;ﬁléuiﬁﬁﬂdfw

Spbssir G bl lly @
<7 @) T u’*‘; 7
.::L?.__.,T (ii1) UL?.-_;"“*;._‘.&{EH (c)

QS AE @

(1) (@)@ (e)y() (b)av) (@) (1)
(1) (d)<(1) (c)@v) (b)<(11) (@)  (2)
(1) (d)+(u1) (c)(1) (b)(av) (@)  (3)

(m) (d)+(1) (e)(1) (b)(v) (a)  (4)

Options :

5362286485. 1
5362286486. 2
5362286487. 3
5362286488. 4

Question Number : 123 Question Id : 5362281665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



¢ i 5 i
:ﬁ'd;@éiﬁ{#;@l&d’r
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_;:?}/ﬁ ¢ A~ (1) FJ ¥ (b
¥ (i) LEL’ ()
PPPE 2SHECLAN 4 (d)

(1) (D)) (e)(m1) (b)@) (a) (1)
(1) (d)(iv) (e)(@) (b)) (a)  (2)
(11) (d)<(111) (c)<(@) (b)<(v) (a) (3)
(111) (d)<(v) (e)(1) (b)(11) (a) (4

Options :

5362286489. 1
5362286490. 2
5362286491. 3
5362286492. 4

Question Number : 123 Question Id : 5362281665 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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:ﬁ'd;@éiﬁ{#;@l&d’r

& o S @

_;:?}/ﬁ ¢ A~ (1) FJ ¥ (b
¥ (i) LEL’ ()
PPPE 2SHECLAN 4 (d)

(1) (D)) (e)(m1) (b)@) (a) (1)
(1) (d)(iv) (e)(@) (b)) (a)  (2)
(11) (d)<(111) (c)<(@) (b)<(v) (a) (3)
(111) (d)<(v) (e)(1) (b)(11) (a) (4

Options :

5362286489. 1
5362286490. 2
5362286491. 3
5362286492. 4

Question Number : 124 Question Id : 5362281666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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: éﬁxbu;ﬁga,-wé;w,;if&
§ &x U fjﬁ g 2120l . re ~ @

LJ;Z:}*’(?/J:;«‘ZLE.:EI (ii) EHL}'F}' (b)
’ 'd

I ;_JLa Af & 5y & lﬂ'.ﬁ J (iii) ;/JLEIJ/ (c)
¥ T LT Lovg & f

5 4 Jl .,JQ -lr"!w. J:r L,JJ JJ.:' (1) /ﬁ'l._;:-r/:." (d)
L Ll & 7 ket A A

C

T

(1) (d)<(m) (e)<(1) (b)<() (@) (1)
(i1) (d)«(iv) (e)@) (b)(iil) (a)  (2)
(1) (d)<(av) (c)«(111) (b)<(11) (a) (3)

(1) (d)<(am) (e)() (b)<(1v) (@)  (4)

Options :

5362286493. 1
5362286494. 2
5362286495. 3
5362286496. 4

Question Number : 124 Question Id : 5362281666 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

B il_pff{ﬁ S W A &Qr¢/ (a)
5?’»1.,-{»..){'-3‘5,’}:’/5-&??

LJ;L/?’JJ;EfLE.:EI (i) {_Eﬁ;_;,'[?f (b)
LQJ-LLEL{,:L[*?{E‘_L-”W
il Jb AF &y & rH .{ (i) :_JELI/ (©)
. B LT Ly & S
Faud o U d e 28 2 @

b bl & 2 d22s A A & &

I
(1v) (d)<(ui1) (o)) (b}2) (@) (1)
(11) (d)+(av) (c)(1) (b)<(111) (@)  (2)
(1) (@)<(1v) (c)(m) (b)<(11) (8)  (3)

(1) (d)+(111) (e)<(11) (b)<(1v) (a) (4)
Options :
5362286493. 1
5362286494. 2
5362286495. 3
5362286496. 4



Question Number : 125 Question Id : 5362281667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S j‘ﬁ:,r_ﬁf';:;f‘i.d!f.::bfrfdmcpti

V% 4..? - Sl @
Gslluz &l i) 7 o
L..lﬂr (111) 5?"; (c)

A G & @

édﬂ*ﬂéf{

(11) (d)<(av) (c)(1) (b)(11) (a) (1)
(1v) (d)«(111) (c)<(11) (b):(1) (a) (2)
(i1) (d)+(1) (c)«(iv) (b)«(iii) (a) (3)

(1) (@) (e)+(m1) (b)<xv) (a)  (4)
Options :
5362286497. 1
5362286498. 2
5362286499. 3
5362286500. 4



Question Number : 125 Question Id : 5362281667 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

NP i—-fﬁiu—'—’!ﬁ‘édiﬂ_‘:bﬂj Stk

V-5 4..? ) Sl @
Gsllaz &1 G - (RS
db i) :5;" s ©

A9 ) @

(111) (d)<(av) (c)<(1) (b)<(11) (a) (1)
(1v) (d)<(111) (e)<(11) (b):(1) (a) (2)
I{ii} [d}-{i} {c)-'{iv} (b): {_ij.i} (a) (3)

(1) (d)(1) (e)«(111) (b)(1v) (a) (4)
Options :
5362286497. 1
5362286498. 2
5362286499. 3



5362286500. 4

Question Number : 126 Question Id : 5362281668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

: %b:?f}gﬁ*i:rnﬂégf

‘- fh:ft-«,d el *L/Llr/"’! -u A;;-j (1)
Gilewzl -l F-§ 2 0 -0 @

Sp2hpS -Gzl - Jip - gWiF @

Options :

5362286501. 1
5362286502. 2
5362286503. 3
5362286504. 4

Question Number : 126 Question Id : 5362281668 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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LS}"—’J{,—'JS‘ o LE.;“’"Jf[/ > {jl__,z; i .;,;.'Liﬂf/"-;r (3)

jy W= (502, !;,-fo - Jldl 7 -Jr) (4)

Options :

5362286501. 1
5362286502. 2
5362286503. 3
5362286504. 4

Question Number : 127 Question Id : 5362281669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s8nr27E Setsblsbmesd Qs
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HY, ;,-..?ur-Lar,aur.-d-”*] l.;i:‘ﬂ'fr.-;_’;;glau; T @

Options :

5362286505. 1
5362286506. 2
5362286507. 3
5362286508. 4

Question Number : 127 Question Id : 5362281669 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s8nr27E Setsblsbmesd Qs
c!r‘;lf'ﬁbf«é};@o?rllgﬁaﬁg ;,-.,fflr'L-I sl (1)
L‘;;J;EQF,JJFJJE.-UT_:; J}-d{rt"}"‘:ia}'!rblzi*‘f (2)
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Options :

5362286505. 1
5362286506. 2
5362286507. 3
5362286508. 4

Question Number : 128 Question Id : 5362281670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



58827 Susns i38 Juby
;Ijﬂfu"ﬁ- LISL - LT~ @
T4 A9y L ;Laem-j’g,f -EIte @
BT - Jn;ﬂu_,r"& Bl - LS @

APl - B1Ie - BT -4 @

Options :

5362286509. 1
5362286510. 2
5362286511. 3
5362286512. 4

Question Number : 128 Question Id : 5362281670 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



58827 Susns i38 Juby
;Ijﬂfu"ﬁ- LISL - LT~ @
T4 A9y L ;Laem-j’g,f -EIte @
BT - Jn;ﬂu_,r"& Bl - LS @

APl - B1Ie - BT -4 @

Options :

5362286509. 1
5362286510. 2
5362286511. 3
5362286512. 4

Question Number : 129 Question Id : 5362281671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



- A0 @

ij#"’" k- AL )

Options :

5362286513. 1
5362286514.2
5362286515. 3
5362286516. 4

Question Number : 129 Question Id : 5362281671 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



- A0 @

ij#"’" k- AL )

Options :

5362286513. 1
5362286514.2
5362286515. 3
5362286516. 4

Question Number : 130 Question Id : 5362281672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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- ._c..fl‘{.:nc."‘]:.:fﬁuf.ff.fﬁleégu:-«b:gut:ﬁr;:
LE/';”J*UWIJE+M&$J&+UG?” (1)
L,a")h,.—f-.fl:é_r”-bf})f.:af-d;}ﬁ’?ﬁ (2)
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§AI T Sirnt$? @

Options :

5362286517. 1
5362286518. 2
5362286519. 3
5362286520. 4

Question Number : 130 Question Id : 5362281672 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



e
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- ._c..fl‘{.:nc."‘]:.:fﬁuf.ff.fﬁleégu:-«b:gut:ﬁr;:
LE/';”J*UWIJE+M&$J&+UG?” (1)
L,a")h,.—f-.fl:é_r”-bf})f.:af-d;}ﬁ’?ﬁ (2)
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§AI T Sirnt$? @

Options :

5362286517. 1
5362286518. 2
5362286519. 3
5362286520. 4

Question Number : 131 Question Id : 5362281673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s bz 78 Bl B2l
o oS ¥UF 34367

'-’fb/v fb..-mw"-w}/b! (2)

Jaiu f‘-LPJ*-:‘f:-?KLJ;'&,}' (3)

eEKUF pob 357 bk @

Options :

5362286521. 1
5362286522.2
5362286523. 3
5362286524. 4

Question Number : 131 Question Id : 5362281673 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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o oS ¥UF 34367

'-’fb/v fb..-mw"-w}/b! (2)

Jaiu f‘-LPJ*-:‘f:-?KLJ;'&,}' (3)

eEKUF pob 357 bk @

Options :

5362286521. 1
5362286522.2
5362286523. 3
5362286524. 4

Question Number : 132 Question Id : 5362281674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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w2 o a2 ez |8 SL;'L.:L-M-J:&.__.f{,;l}k-_g/"}ffﬁ (2)

;.%ML.J/HIU copwsbedubolior @
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ﬁﬁgﬁb-ﬁi!;&dt;&Lwlsug/ﬁj/'gg-'d}}?t;'ib (4)

Options :

5362286525. 1
5362286526. 2
5362286527. 3
5362286528. 4

Question Number : 132 Question Id : 5362281674 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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ﬁﬁgﬁb-ﬁi!;&dt;&Lwlsug/ﬁj/'gg-'d}}?t;'ib (4)

Options :

5362286525. 1
5362286526. 2
5362286527. 3
5362286528. 4

Question Number : 133 Question Id : 5362281675 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s . ) _— D
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S o2 L',Lf’f LEL: & sl 15T f‘]f (1)
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ol
Sbe ol A1 ST 2P E @

T £ Qb _:L&Jiou’w A @

Options :

5362286529. 1
5362286530. 2
5362286531.3
5362286532. 4

Question Number : 133 Question Id : 5362281675 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



s . ) _— D
-Eﬁ:.ﬂy{jﬁ:f y L;P‘rLJJ}U.}G;b‘
S o2 L',Lf’f LEL: & sl 15T f‘]f (1)

I
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Options :

5362286529. 1
5362286530. 2
5362286531.3
5362286532. 4

Question Number : 134 Question Id : 5362281676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286533. 1
5362286534. 2
5362286535. 3
5362286536. 4

Question Number : 134 Question Id : 5362281676 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286533. 1
5362286534. 2
5362286535. 3
5362286536. 4

Question Number : 135 Question Id : 5362281677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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I:fJ LEJ:E (3)

LBy @
Options :
5362286537. 1
5362286538. 2

5362286539. 3
5362286540. 4

Question Number : 135 Question Id : 5362281677 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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I:fJ LEJ:E (3)

LBy @
Options :
5362286537. 1
5362286538. 2

5362286539. 3
5362286540. 4

Question Number : 136 Question Id : 5362281678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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- ) 4 le -
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GG e lSUsS 2 U
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q;._aﬁpgsugﬁ_.rfﬁh (2)
éﬁﬁf:u‘g%gtﬁ: (3)

e .
q:.ﬁﬁu'ﬁa,-:fdi_.bﬂuﬁ (4)

Options :

5362286541. 1
5362286542. 2
5362286543. 3
5362286544. 4

Question Number : 136 Question Id : 5362281678 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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- ) 4 le -
e bt (555
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q;._aﬁpgsugﬁ_.rfﬁh (2)
éﬁﬁf:u‘g%gtﬁ: (3)

e .
q:.ﬁﬁu'ﬁa,-:fdi_.bﬂuﬁ (4)

Options :

5362286541. 1
5362286542. 2
5362286543. 3
5362286544. 4

Question Number : 137 Question Id : 5362281679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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éﬁﬁfﬁw‘g%é‘ﬁ: (3)

: o
q:.ﬁﬁﬁ'df:,-sfa;,ﬁuf: (4)

Options :

5362286545. 1
5362286546. 2
5362286547. 3
5362286548. 4

Question Number : 137 Question Id : 5362281679 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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éﬁﬁfﬁw‘g%é‘ﬁ: (3)

: o
q:.ﬁﬁﬁ'df:,-sfa;,ﬁuf: (4)

Options :

5362286545. 1
5362286546. 2
5362286547. 3
5362286548. 4

Question Number : 138 Question Id : 5362281680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286549. 1
5362286550. 2
5362286551. 3
5362286552. 4

Question Number : 138 Question Id : 5362281680 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286549. 1
5362286550. 2
5362286551. 3
5362286552. 4

Question Number : 139 Question Id : 5362281681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286553. 1
5362286554. 2
5362286555. 3
5362286556. 4

Question Number : 139 Question Id : 5362281681 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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e

g
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Options :

5362286553. 1
5362286554. 2
5362286555. 3
5362286556. 4

Question Number : 140 Question Id : 5362281682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286557. 1
5362286558. 2
5362286559. 3
5362286560. 4

Question Number : 140 Question Id : 5362281682 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286557. 1

5362286558. 2

5362286559. 3
5362286560. 4

Sub-Section Number : 2
Sub-Section Id : 53622865
Question Shuffling Allowed : Yes

Question Id : 5362281683 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension



Z':'U (jurwré—i:—'}u V“JHT?L._..«UI;' 91-95

$Gstid 6 S U ot calb st Posit Sl 2605 4 Klg L 1 B
P s T A B ETNL NP L 143 A (3 nsb s
L;/!TLJ:-‘.LHIPJJLI.;JSQ'”L)E_-V!?H“U:L}TI.# fblgf-;ﬁ'é.uﬂdifﬁ:/z’b;
2§ 120 FE T 22K S bl 2 L L bl T G335
Ui nerio gl L L W!JDL&/’U‘&C#&’J Lu:;:;;:f,pﬁlfﬂ#ubgu;n
L;;.gzﬁ:b:r-c‘“zﬁ;j.;:fu’,cf;z-;_"::”.._'..-lﬁf:iL:Tﬁﬁ'i.u;‘j’/.fggﬁ}é_éﬂkbﬁuﬁ
_JJJJLL,'J,-:T.L*’r;ﬁ’I:'!;}I_/_;J:g_fb'}-pa;}mud::b’;_;'I;L%JF)i‘éi oWl b s
W LE I LAV SO SRR AN 3% I FET I 1 S T

“Ji= lﬂ_,-u.. -E;,:,S;';Ebi.:ﬂL:f»'_.rwrf,:;_.bﬂgﬁﬁ;--‘rb

Sub questions

Question Number : 141 Question Id : 5362281684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



WK 5 4L P 1o S b E B0 B

G % & . o
&S UL JE bl @ FOsikY »s
Ty e . .
Be.rdn @ e Sl '/"7;.,_0:3 (3)
Options :

5362286561. 1
5362286562. 2
5362286563. 3
5362286564. 4

Question Number : 142 Question Id : 5362281685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286565. 1
5362286566. 2
5362286567. 3
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Question Number : 143 Question Id : 5362281686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286569. 1
5362286570. 2
5362286571. 3
5362286572. 4

Question Number : 144 Question Id : 5362281687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 5362281688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286577. 1
5362286578. 2
5362286579. 3
5362286580. 4

Question Id : 5362281683 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 5362281684 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286561. 1
5362286562. 2
5362286563. 3
5362286564. 4

Question Number : 142 Question Id : 5362281685 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286565. 1
5362286566. 2
5362286567. 3
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Question Number : 143 Question Id : 5362281686 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286569. 1
5362286570. 2
5362286571. 3
5362286572. 4

Question Number : 144 Question Id : 5362281687 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362286573. 1
5362286574. 2

5362286575. 3
5362286576. 4

Question Number : 145 Question Id : 5362281688 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362286577. 1
5362286578. 2
5362286579. 3
5362286580. 4

Sub-Section Number : 3
Sub-Section Id : 53622866
Question Shuffling Allowed : Yes

Question Id : 5362281689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362281690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286581. 1
5362286582. 2
5362286583. 3
5362286584. 4

Question Number : 147 Question Id : 5362281691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 5362281692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362286589. 1
5362286590. 2
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Question Number : 149 Question Id : 5362281693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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5362286595. 3
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Question Number : 150 Question Id : 5362281694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

5362286597. 1
5362286598. 2
5362286599. 3
5362286600. 4

Question Id : 5362281689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362281690 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0



-
-

LT P b hiibeher Ly S e bUsE bl

LﬂﬁuﬁuaﬁﬁﬁyJﬁﬁxk (1)

» :.:*
Wl @
o - o e O
_L_f %o Y EJ:‘.JJ"J 2 L,';I::::."J (3)

{j; "'fcf;f&),;kd. Jub @

Options :

5362286581. 1
5362286582. 2
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Question Number : 147 Question Id : 5362281691 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 5362281692 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 5362281693 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 5362281694 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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